RD SHARMA
Solutions
Class 10 Maths

Chapter 9
Ex 9.3



Find:

(i)  10® term of the AP 1.4. 7. 10....

(11) 18% term of the AP -\E ; 3-\5. 5-\5 .............
(111)  nth term of the AP 13.8.3,—2............

(iv)  10® term of the AP —40,-15.10.35..........

(v)  8Tterm of the AP 11.104,91.78.........
(vi)  11% term of the AP 10.0. 10.5. 11.0, 11.24. ...

(vii) 9% term of the AP -
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Sol:

(1)

(11)

(iii)

Given A.p is
| B S ] TORre———
First term (a) =1

Common difference (d) = second term first term
=4-1
=3

n" terminan Ap=a+(n-1)d
10" term in an 1+(10-1)3

=1493
=1+27
=28

Given A.p 1s

V2,342,542, ...

First term (a:l= w.-E

Common difference = Second term — First term
=3V2-2

d=22

n™ term in an A.p=a+(ﬂ—1]d
18" term of A.p=ﬁ+(18—1]2\5

=24172:/2
=2(1+34)

=352

S 18" termof Apis 3542

Given A.p is
1 & T 05 W A —

First term (a)=13

Common difference (d ) =Second term first term

=8-13
=-5

n™ term ofandp a =a+(n-1)d
=13+(n-1)-5

=13-5n+5



()

)

a, =18-5n

Given A.p 1s
—40,-15,10,35,........
First term (a)=—-40

Common difference {d ] = Second term — first term

=-15-(-40)
=40-15
=35

n" termof an A.p a,=a+(n-1)d
10" term of A.p a,; =-40+(10-1)25

= —40+9.25
=—40+225
~185

Given sequence is
117.104,91, 78, .cconiiin

First learn can =117

Common difference (d ] = Second term — first tepmi

=104-117
=-13

n" term a, =a+(n-1)d
8" term ag =a+(8=1)d
=117+7(-13)
=117-91

=26



(vi)

Given A.p 1is

100105110, 115

First term (a)=lﬂ.ﬂ'

Common difference (d) = Second term — first term

=10.5-10.0
=0.5

n™ term a, =a+(n—1)d

11" term @, =10.0+(11-1)0.5

=10.0+10x0.5
=10.0+5




!«-J

=15.0
(vit) Given 4.p 1s
357 9
+_
. 3
First term (H)ZE

Common difference {'a’ ] = Second term — first term

5 3
4 4
2
"4

n™ term a, =H+(H—l}d

9" term d, =a+[9—l}d

=i+8.E
4 4
3,16
"4 4
19
4

(1) Which term of the AP 3. 8. 13. . 4las 2487

(11) Which term of the AP 84, 80.76, ... 15 02

(111) Which term.of the AP 4, 9u14.... .. 15 2547

(1v) Which term of the AP 21, 42, 63. 84, . 5454207

(v) Which term of the AP 121,117, 1134 ¥ 1s its first negative term?
Sol:



)

Given A.p is 3,8,13,.........

First term (a) =3

Common difference (d) = Second term — first term
=83

=5

n" term (a,)=a+(n-1)d

Given n" term a,=248

248=3+(n-1).5

248=-2+5n
Sn=250




_250 _

=
50" term is 248.

(11) Given A.p 15 84,80,76,.........

50

1

First term [a] =84

Common difference (d ) =a,—a

=80—84
=4

n" term (a,)=a+(n-1)d

. ||' .
Given n" termis ()

0=84+(n-1)-4

+84 =+4(n-1)
)|
n—1=’84/;=31
4

n=214+1=22
22" term is 0.
(1) Given Ap 4.9.14.......
First term [a] =4
Common difference (d ) —a’—a
=9—-4
-5
n” term (a,)=a+(n=1)d

Given n™ term is 254



(1v)

4+(n-1)5=254
(n-1)-5=250

1= _ g0
5

n=>51

5517 term is 254,
Given Ap
21.42,63.84,.........
a=1ld=a,-a
=42-21

=21




v)

n" term (a,)=a+(n—1)d
Given n" term =420
214+ (n—1)21=420
(n-1)21=399

399 L

n-1=——=19
21

n=20
2 20™ termois 420.
Given- A p 15 12L117.1 13, 0.

First term (a)=121

Common difference (d)=117-121
=—4

n" term (a)=a+(n—-1)d

Given n" term is negative i.e., a, <0
121+(n—1)—-4<0

121+4-4n<0
125-4n <0
4n>125

ns>—-

n>31.25

The mteger which comes after 31.25 1s 32,

.32™ term is first negative term



